EARAROBREBRT —5 XN—ZXBISH—F 2022668178 (&) 6LHAE3H

Lz SHFWER INEO C1 USHR4AKLE BRI R
[xE€] 1%&:370,000H  23&:118,000M  3#&:67,000H  43%&:44,000H 5 3&:30,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= o~ |I|S%HE :31. -4-4- . - THERE (8
117] 9| PWT7SAY Ry S R R RINARIES = TR
RIIET7RAT BFATARIY e
=) 4 4 | WUTHRE 1:31.4 3-5-5-4 | 40.0 | — 4 438 | KiEBEK (1£8)
2 3|YU—Fv—0O 54.0 (3/4) (a) | TESE=A—ILF VTR ()
R:iTSvIIALR B:JU—-XF7—IzUh IH=ZT7—L
=~ s o7 | AR 1:31.5 11-11-11-8 | 38.2 | — 5 19 |MHEE (£8)
318)10 75YELARL 5.0 (172) ) (R
R:O0—KRAprO7 B:IUN=TUR #HRARH ZSUFVITF—L
= — to4 | SAKEE 1:31.8 4-3-3-2 [40.6| — | 2 | 473 |WFEX (£8)
455|237 bo—b 56.0 a1/ (3 |EESER
R:ZAIU—vE—O— BRTATIAY #HET7—L
N R s 6 | OB 1:31.9 6-6-6-6 | 40.2 | — 6 | 449 |EEM (&8
5178 UyhHI94VRY 54.0 (/2) #3) TCE=
RVwANTYYF B:UvhAUATTIL— BH F
S St~ # 6 | LUEAHS 1:31.9 8-8-7-7 | 40.2| - 1 459 | WWFEX (1£8)
1 2 PIBERCEPANF A 4530 F92) g | @0 FTIVF
RiALYaVR—F— B:RIAVPILTY FREAS
= _3p i 4 B 1:32.6 2-2-2-3 |41.5| - 3 419 | KEHX (£8)
71811 ZARL=Y2 54.0 @ ) |=EEs
R:XYUSTwik v Ia)b—Ya BEKES
_n " o4 | BEE—E 1:32.6 9-9-9-9 |40.1| - 9 | 529 |LUETEA (£H)
8 6| /N\—Y KU A 56.0 () ) | BEET
RNV vH—=)b B:SAV K REEHIS
_ # 5 | SRS 1:33.2 1-1-1-5 | 42.2| - 8 | 443 |NEF (8
9/1/1|3Fa—bR 56.0 3) (-3 |EEET
RIAR—KT7IVAY B:AVIRY—-FY YA FHIS
s N Gl s :33. -7-8- . - LB (28)
1008 7 | EXTUU7PT B 550 ! (333 8 e 413 10 f;; o) |}
RiFVyvB/FE+ B:LyRLA—-T Gl e
V=4 — st 5 | NIEEAEA 1:34.4 10-10-10-11| 41.6 | — 11 | 477 |HIEF (£8)
1100 4|72 /V=a2—) £52.0 3 4y |NlBE
RIBUSAARATR B:59Y RA— HRAH 74X

@ J1—JF—@BIRNI
13—7+— 1.11,3.5.9.8.,7,2,6,4,10
20—7— 1.11,5.9.,3.8.7,2,6,4,10
Ja=zr= 1,11,5,9,3,8,2,7,6,4,10
4J—7— |[9,5,11,3,1,8,2,10,6,7.4

@ ILRE
& s 9 1,360 | [ DA K 3-9 870F3 | | # & 3-7 790/ | | 3&EE 3-9-10 6,330MH
& B 9 430 9-10 2,050 | | 55 = 3-9 2,840 | | 3EE 9-3-10 54,750MH
3 200M 3-10 %0 | | 5 & 9-3 5,250/
10 440

ABIC OV TRUTEREERRODDZE. THRIIZEL.



